Confidence Interval Estimation – One Sample Problem
	Population
	Sample Size 
	Variance
	Interval

	Normal
	Any
	Known
	


	Any
	Large
	Known
	


	Normal
	Small
	Unknown
	


	Any
	Large
	Unknown
	





Required sample size to estimate the mean, μ, with a maximum error E and with confidence 1 - α  
If σ is unknown, and we have a preliminary estimate s then 



1. Large Sample 100(1 – 𝛂)% Confidence Interval for  p , a population proportion


Required Sample Size to estimate  a population proportion, p, with a maximum 
error E and with confidence 1 - α:	
· 
if we have a preliminary estimate 


· [bookmark: _GoBack]if we do not have a preliminary estimate 
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